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WAPP?: Fit Results

An analysis of data submitted by computer: on 27-OCT-2020 at 11:30 indicates that a
function of the form:

--Resonance-- 1/y2=A+Bx%+Cx*
can fit the 5 data points with a reduced chi-squared of 0.23E-01

FIT
PARAMETER VALUE ERROR
A= 0.9968 0.20E-01
B = -1.993 0.40E-01
C = 0.9965 0.20E-01
Resonance Parameters:
Yo = 1.002 0.11E-01
fo = 12000 NaN
0 ( iy 0.58
NO x-errors
NO y-errors
ACTUAL  CALCULATED DEVIATION {
POINT X Y Y FROM FIT 5 0L 5@1&9 S\
1 0.900 5.22 5.25 -0.229E-01
2 0.950 10.1 10.1 0.537E-02 S Wol.
3 1.00 50.0 50.2 -0.213
4 1.05 9.59 9.59 0.589E-02
5 1.10 4,72 4.75 -0.249E-01

Data Reference: 0896






